7. Let A = The set of all natural numbersless than 8, B = The set of all prime numbersless than 8, C = The set

of even primenumber. Verify that(i) (ANB)xC=(AxC)N(BxC) (i)Ax(B-C)=(AxB)-(AxC)
Solution :
Given A = {~——————ee’ } B={ —} C={}

(i) To verify: (ANB)xC=(AxC)N(BxC)
ANB={——-}
< (ANB) xC = {~————————}... (1)

AxC={ }

BxC={ }
(AxC)n(BxC)={ }. (2)

~ From (1) and (2), LHS = RHS.

(i) To verify: Ax(B-C)=(AxB) = (AxC)

R —

“Ax(B-C)={ }

AxB={ }

AxC={ }

“(AxB) - (Ax C)={ }..(2)

~ From (1) and (2), LHS = RHS.
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